1207 (R A

______________][.._

ME:v0LEYITTUM (SCM435)

LEX REWIE : B EEERIE
HMmE:12. 9

P TEOEET L g Kk m ( P TEAET g Kk m ¢
B30-0606 M6X6 1.0 10.0 §) 5.0 3.0 B30-0830 M8X30 1.25 13.0 8 6.0 4.0
B30-0608 M6X8 1.0 10.0 §) 5.0 3.0 B30-0835 M8X35 1.25 13.0 8 6.0 4.0
B30-0610 M6X10 1.0 10.0 §) 5.0 3.0 B30-1012 M10X12 1.5 16.0 10 8.0 5.0
B30-0612 M6X12 1.0 10.0 §) 5.0 3.0 B30-1015 M10X15 1.5 16.0 10 8.0 5.0
B30-0614 M6X14 1.0 10.0 §) 5.0 3.0 B30-1016 M10X16 1.5 16.0 10 8.0 5.0
B30-0615 M6X15 1.0 10.0 §) 5.0 3.0 B30-1018 M10X18 1.5 16.0 10 8.0 5.0
B30-0616 M6X16 1.0 10.0 §) 5.0 3.0 B30-1020 M10X20 1.5 16.0 10 8.0 5.0
B30-0618 M6X18 1.0 10.0 §) 5.0 3.0 B30-1022 M10X22 1.5 16.0 10 8.0 5.0
B30-0620 M6X20 1.0 10.0 §) 5.0 3.0 B30-1025 M10X25 1.5 16.0 10 8.0 5.0
B30-0622 M6X22 1.0 10.0 §) 5.0 3.0 B30-1030 M10X30 1.5 16.0 10 8.0 5.0
B30-0625 M6X25 1.0 10.0 §) 5.0 3.0 B30-1035 M10X35 1.5 16.0 10 8.0 5.0
B30-0630 M6X30 1.0 10.0 §) 5.0 3.0 B30-1040 M10X40 1.5 16.0 10 8.0 5.0
B30-0810 M8X10 1.25 13.0 8 6.0 4.0 B30-1215 M12X15 1.75 18.0 12 10.0 6.0
B30-0812 M8X12 1.25 13.0 8 6.0 4.0 B30-1216 M12X16 1.75 18.0 12 10.0 6.0
B30-0814 M8X14 1.25 13.0 8 6.0 4.0 B30-1220 M12X20 1.75 18.0 12 10.0 6.0
B30-0815 M8X15 1.25 13.0 8 6.0 4.0 B30-1225 M12X25 1.75 18.0 12 10.0 6.0
B30-0816 M8X16 1.25 13.0 8 6.0 4.0 B30-1230 M12X30 1.75 18.0 12 10.0 6.0
B30-0818 M8X18 1.25 13.0 8 6.0 4.0 B30-1235 M12X35 1.75 18.0 12 10.0 6.0
B30-0820 M8X20 1.25 13.0 8 6.0 4.0 B30-1240 M12X40 1.75 18.0 12 10.0 6.0
B30-0822 M8X22 1.25 13.0 8 6.0 4.0 B30-1245 M12X45 1.75 18.0 12 10.0 6.0
B30-0825 M8X25 1.25 13.0 8 6.0 4.0 B30-1250 M12X50 1.75 18.0 12 10.0 6.0
FRB 08115 | mm TRusco SRR |*F Amradk 2% 5 30-0000




